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(psu)
EHEAE EB FEEER  Fit =l
32 25 32.36 32.27 32.12 32.25 32.73
12 32.23 32.06 28.37 31.91 32.03 31.83
1 31.07 30.82 31.76 32.20 31. 81 32.74
2 20.30 32.52 32.07 32.74 30.62 32.94
3 32.25  31.37 31.64 32.66 29.76  33.38
*2 BZFODIP
(umol/1)
A HRE FHa EWB BEEER  Fit 3l
11 1.45 0.74 0.84 0.84 0.71 0.53
12 0. 81 0. 51 1.38 0.67 0.76 0.45
1 0.96 0.65 0.70 0.33 0.44 0.52
2 4.91 0.16 0.34 0.27 0.93 0.35
3 0.24 0.55 0.82 0.37 1.48 0.27
X/ )BELEREE 0.5umol/l, THAABELEREE 0. Tumol/I
&3 ABZODIN
(umol/1)
A HR ®HERH EB MHEER T 2l
11 13.52 9.03 10.40 10.89 9.00 4.92
12 10. 01 7.55 18.94 8.48 8.38 7. 01
1 19.54 23.04 12.55 2.92 6. 26 5.48
2 75.60 10.91 6. 40 1.55 17. 11 2.32
3 2.45 8.12 9.16 2. 170 23.35 2.50
X/ VBEBEREE : 10umol/l, DAABEZEBEREE : 2umol/I
=4 JVVEEHROBRELE
R H25 H26  H27  H28 H29  H30 R1 R2 R3 R4 HIZEH(R4/R3)
EERHK 3 3 3 3 3 3 3 3 3 3 1.00
s (T 086 0.67 076 079 079 078 072 0.72 074 0.71 0.96
EERE(BH 343 258 154 159 322 148 216 190 146 155 1.06
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